






• Select the option that represents the 

correct order of the given words as 

they would appear in an English 

dictionary .

• उस विकल्प का चयन करें जो विए गए शब्िों 
के सही क्रम का प्रविवनवित्ि करिा ह ैजैसा वक

िे एक अगं्रेजी शब्िकोश में विखाा  िेंगे।

• 1-Flexible

• 2-Flower

• 3-Flooring

• 4-Flood

• 5-Floater

A.3, 5, 4, 2, 1

B. 1, 5, 4, 3, 2

C. 2, 5, 4, 3, 1

D.1, 5, 3, 4, 2



• In the question below, which one of the given responses 

would be a meaningful order of the following words?

• नीचे विए गए प्रश्न में, वनम्नविवखाि में से कौन सा उत्तर वनम्नविवखाि 
शब्िों का अर्थपरू्थ क्रम होगा?

• 1. Selection

• 2. Application

• 3. Probation

• 4. Interview

• 5. Appointment

1. 2, 1, 5, 3, 4

2. 2, 4, 3, 1, 5

3. 2, 4, 1, 5, 3

4. 2, 5, 1, 4, 3



• Study the given pattern carefully and select the number that can replace the question 

mark(?) in it.

• विए गए पैटनथ का ध्यानपिूथक अध्ययन करें और उस संख्या का चयन करें जो उसमें प्रश्न वचह्न (?) को प्रविस्र्ावपि 

कर सके।

? 8 11

7 6 5

48 63 72

A.7

B.4

C.5

D.6



• Which of the following diagram best represents Rajasthan, Jaipur, Hawamahal

relationship?

• वनम्नविवखाि में से कौन सा आरेखा राजस्र्ान , जयपरु , हिामहि  सबसे अच्छे संबंि को िशाथिा ह?ै



• If 17th December 1982 was Saturday, then what day will be 22nd December 1984?

• यवि 17 विसम्बर 1982 को शवनिार र्ा ,िो 22 विसम्बर 1984 को कौन सा विन होगा ? 

A.सोमिार

B.मगंििार

C.बिुिार

D.रवििार



• Four letter-set are given, out of which three are alike in some way, and one is different. 

Select the different letter-set.

• चार अक्षर-समहू विए गए हैं, वजनमें से िीन वकसी न वकसी रूप में एक जैसे हैं, और एक विन्न ह।ै विविन्न अक्षर-

सेट का चयन करें।

1. HLNQU

2. BEHKN

3. UXADG

4. CFILO



• F, G, H, I and J are sitting in a line facing 
south while R, S, T, U and V are sitting 
in a second line

• parallel to the first line and are facing 
north. I is second to the right of F, F is 
opposite to S. H and S

• are diagonally opposite to each other and 
at the extreme ends. G is opposite to V 
who is just next to the left of S

• . T who is the second to the left of V, is 
opposite to J. R is at one end of the line. 
Which of the following pairs is opposite 
to each other?

• F, G, H, I और J एक पंवि में िवक्षर् की ओर 
मखुा करके बैठे हैं जबवक R, S, T, U और V िसूरी 
पंवि में बैठे हैं

• पहिी पंवि के समानांिर और उत्तर की ओर उन्मखुा 
हैं। I, F के िायें से िसूरे स्र्ान पर ह,ै F, S के 
विपरीि ह।ै H और S

• विरछे एक िसूरे के विपरीि और अंविम छोर पर हैं। 
G, V के विपरीि ह ैजो S के बायें ठीक बगि में है

• T, जो V के बायें से िसूरा ह,ै J के विपरीि ह।ै R, 
रेखाा के एक छोर पर ह।ै वनम्नविवखाि में से कौन सा 
जोडा एक िसूरे के विपरीि ह?ै

1. HU, IV

2. GS, FR

3. HR, IU

4. JR, IT



• Select the option that will fill in the blank and complete the given series.

• उस विकल्प का चयन करें जो ररि स्र्ान को िरेगा और िी ग  श्रखंािा को परूा करेगा।

• ACT, BAW, CYZ, ________, EUF

1. BYC

2. CXC

3. DWC

4. DYC



• 15th January 1964 was Wednesday. What day was 15th January 1963?

• 15 जनिरी 1964 को बिुिार र्ा|15 जनिरी 1963 को कौन सा विन र्ा ?

A.सोमिार

B. मंगििार

C. बिुिार

D.शकु्रिार



• For a standard clock, the angle between the hour hand and the minute hand What if the 

clock shows 1:15 AM?

• एक मानक घडी के विए, घटें की स ु और वमनट की स ु के बीच का कोर् क्या होगा यवि घडी 1:15 बजे विखाािी 

ह?ै

A.55°

B. 52.5°

C. 82.5°

D.45°



Which number is in opposite plane of 3?

कौन सी संख्या 3 के विपरीि िि में ह?ै

(A) 1

(B) 4

(C) 6

(D) 5



Which number is in opposite plane of 2 ?

कौन सी संख्या 2 के विपरीि िि में ह?ै

(A) 1

(B) 4

(C) 6

(D) 2



Which number is in opposite plane of 2 ?

कौन सी संख्या 2 के विपरीि िि में ह?ै

(A) 5

(B) 3

(C) 1

(D) 6



• In a certain code language, “IMAGE” is written as “KQBII” and “GHOST” is written as 

“ILPUX”.

• How will “EARTH” be coded in that language?

• एक वनविि कूट िाषा में, “IMAGE” को “KQBII” विखाा जािा ह ैऔर “GHOST” को “ILPUX” विखाा 

जािा ह।ै

• उसी िाषा में “EARTH” को वकस प्रकार कोविि वकया जाएगा?

1. GFSVL

2. GEVSL

3. GESXL

4. GESVL



• A+B= A is the father of B

• A-B= A is the mother of B

• A*B= A is the brother of B

• A%B= A is the sister of B

• then how is Q related to S in ‘P + Q * R – S’?...

• A+B= A, B . का वपिा है

• A-B= A, B की मािा है

• A*B= A, B का िा  है

• A%B= A, B . की बहन है

• िो 'P + Q * R - S' में Q, S से वकस प्रकार संबंविि ह?ै..

a) Husband 

b) Uncle 

c) Brother 

d) Father...



•DICTATE=EJDUBUF

•NATION=????
A.TBHJIT

B. OBGRHO

C. OBUJPO

D.UTROVU



• Study the following information to answer the given 
questions. 

• A, B, C, D, E, and F are seated in a circle facing 
opposite direction of the center.

• A is second right of D who is third left of F. C is third 
to the right of E and is not immediate neighbor of F.

• What is position of C with respect to B?

• विए गए प्रश्नों के उत्तर िनेे के विए वनम्नविवखाि जानकारी का 
अध्ययन करें।

• A, B, C, D, E, और F एक िरत्त में कें द्र की विपरीि विशा की 
ओर उन्मखुा होकर बैठे हैं।

• A, D के िायें िसूरा ह ैजो F के बायें िीसरा ह।ै C, E के िायें से 
िीसरा ह ैऔर F का वनकटिम पिोसी नहीं ह।ै

• B के सन्ििथ में C का स्र्ान क्या ह?ै

(1) 3rd to the right

(2) 2nd to the right 

(3) 3rd to the left

(4) None of these



• Who is third to the left of E?

• E के बायें से िीसरा कौन ह?ै

(1) A                  

(2) C                        

(3) D

(4) E 



• 709, 708, 699, 674, 625, ?

A.544

B. 562

C. 549

D.569



•6, 3, ?, 6, 24, 192

A.6

B.3

C.4.5

D.4



•11, 14, 19, 28, 43, ?

A.76

B.66

C.65

D.75



• Forecast : Future :: Regret : ? 

• पिूाथनमुान : िविष्य :: पछिािा : ?

(a) Present 

(b) Atone 

(c) Past 

(d) Sins 



• Select the option that represents the correct order of the given words as they would appear in an 

English dictionary.

• उस विकल्प का चयन करें जो विए गए शब्िों के सही क्रम का प्रविवनवित्ि करिा ह ैजैसा वक िे एक अंगे्रजी शब्िकोश में

विखाा  िेंग।े

• 1. Understand

• 2. Untie

• 3. Uncle

• 4. University

• 5. Unlimited

• 6. Unknown

1. 3, 1, 4, 6, 5, 2

2. 1, 3, 4, 6, 5, 2

3. 1, 4, 3, 6, 5, 2

4. 3, 1, 6, 4, 5, 2



• A boy starts a bike trip from Point O and heads 15 km northwards to reach Point I. From 

there he takes a right and rides 10 km to Point J. He then takes a left and rides 5 km to 

Point D. Then he takes another left and travels 10 km to Point L. At Point L he takes a left 

and travels 15 km to his destination Point S. How far and in which direction is he from the 

starting point?

• एक िडका वबंि ुO से बाइक यात्रा शरुू करिा ह ैऔर वबंि ुI पर पह चंने के विए 15 वकमी उत्तर की ओर जािा ह।ै 

िहां से िह िाए ंमडुिा ह ैऔर वबंि ुJ िक 10 वकमी की सिारी करिा ह।ै विर िह बाए ंमडुिा ह ैऔर वबंि ुD िक 

5 वकमी की सिारी करिा ह।ै विर िह िसूरा िेिा ह ैबाए ंऔर वबंि ुL िक 10 वकमी की यात्रा करिा ह।ै वबंि ुL पर 

िह बाए ंमडुिा ह ैऔर अपने गंिव्य वबंि ुS िक 15 वकमी की यात्रा करिा ह।ै िह प्रारंविक वबंि ुसे वकिनी िरू और 

वकस विशा में ह?ै

1. 5 km North

2. 10 km South

3. 15 km East

4. 5 km South




